SBI PO 2023
REASONING

| | =) \ f"‘"‘"’""“— }‘
=1t

pre———
— q
\

we 09:00 AM »




Join my
TELEGRAM GROUP

) @reasoningbybasantsir

Daily PDF of all YT sessions
Discussion / Doubt Solving
Direct Interaction with me
Quiz
@ Polls



SBI CLERK 2023/ @

3T7EnT Batch

Previous Year :
~—_ PAPER PINE )\

dra aaagszmo @
BEASUNING ive) 12:00 PM @




FAN MAN GAT ETM UQU

GEB] If Second and last letter of each word is
interchanged, then how many words will end with a
vowel?

TS Tk I165 o G 3T 37T 318 i 3TUH § a5e
o stro, at feRa YTeat o i H Uk TR B

1. One

2. Two

3. Three

4. Four

5. Five™




FAN MAN GAT ETM UQU

If each letter in the given word is arranged according
to the alphabetical series from left to right, then how
many words will start with a consonant?

qig 19U T 9168 H Teleh FOT ol TUMHTAT T o ATAR
AT W ST sgateerd ferar ST &, at foha vreg wen
S ¥ & BRI

1. Three

2. Four

3. Two

4. One

S. Five



FAN MAN GAT ETM UQU

©SBI If “E” is added at end of each word, then how many
meaningftul words will be formed?

e T W18 o i | “E” Sret WY, av foha svefqut
o8 FA?

1. Two

2. One

3. Three

4. Four

S. None




FAN MAN GAT ETM UQU

If in the given words, all the consonant of each word
are replaced by immediate preceding letters and all
the vowel of each word are replaced by immediate
succeeding letters in English alphabetical order, then
how many words have at least one vowel?

Tt fou T yreat W, Uik IT6E o T ST ol Stk
UEe o TR | dget 3 SraT 8 3R Ul yisg & At
TR T SIS AUTTHshH | 31k &g oh e o T8
foraT SITaT 2, At feRd ITest W A © T Uk TR B2



FAN MAN GAT ETM UQU

GEB] If all the words are arranged in alphabetical order
from left to right then how many words will remain
unchanged?

afz weit vreat Y SutHTET ¥ 3 A & A sra e
foRaIT ATE, AT TR 9168 STURATdd &2

1. One

2. Two

3. Three

4. Four

S. None




In some of the following logic QUALITY is coded as
IEYNQFA following the same logic P will be coded

gﬁ%%?rwaaﬁﬁ QUALITY T IEYNQFA <
T § RIS TR TAT 7, IHT Teh T ATEUT it FU P
! 30 TehR ShiTSd fohaT ST )

a) JYHOYGR

b) JHBOYIR

¢) JHYOYGR

d) JYHOFGR

e) None of the above




| Statements:
Few B are C.
OSBI All R are C.
Only a few R are Y.
Conclusions:
I. A few C are B.
II. Few Y are neither R nor C.

1)If conclusion I follows

2) If conclusion II follows

3) Either conclusion I or conclusion II follows
4) Neither conclusion I nor conclusion II follows
5) Both conclusions follow



Statement:

All Jar are Planes.
Only a few air Lanes are bus.
No bus is a train.
Conclusion:

I. Some Jar can be train.
II. Some Planes are not train.

1) Only I follows

2) Only II follows

3) Either I or II follows
4) Neither I nor 11 follows
S) Both I and II follow



Statements:

Only a few Fans are Lights.
No Light is DC.

Some DC are Heater.
Conclusions:

I. All Fans being Lights is a possibility.
I1I. No Heater is Light.

1) Only conclusion I is true

2) Only conclusion II is true

3) Both conclusions I and II are true
4) Either conclusion I or 11 is true

5) Neither I nor 11 is true



Certain people are sitting in a row facing north. Q is third
to the left of O who sits fourth from one of the extreme ends
of the row. There are five persons sitting between T and S.
T sits at one of the extreme ends of the row. R sits exactly in
the middle of T and S. Two persons sit between S and P. Q
does not sit at one of the extreme ends of the row. There are
as many persons sitting between Q and V as many are
sitting between S and Q. P is exactly mid of the row.

ho SATxh Ueh UTth H 3 o OFHE oIS 31 Q, Ui o forelt

ST SR A Y TATT WS O h JT0 O IO W T RS

sfter & uter safvh 33 ¥ T ufve o fordlt oifom SRWT 3T R R,

3T S o Sieh i<l W IBT 21 S 3TN P o & ° &1 Ak 93 2

Gteh o fordt Sifaw SR W 781 98T 8] Q 3R V & s 4 Iaq

gﬁ#%%ﬁﬁmﬁﬁQ%ﬁaﬁ%%Pﬁ%%ﬁmma
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Certain people are sitting in a row facing north. Q is third
to the left of O who sits fourth from one of the extreme ends
of the row. There are five persons sitting between T and S.
T sits at one of the extreme ends of the row. R sits exactly in
the middle of T and S. Two persons sit between S and P. Q
does not sit at one of the extreme ends of the row. There are
as many persons sitting between Q and V as many are
sitting between S and Q. P is exactly mid of the row.

How many people are sitting in the row?
e Fo =1 5 5

1) 13
2) 15
3) 21
4) 19
5) 17



Certain people are sitting in a row facing north. Q is third
to the left of O who sits fourth from one of the extreme ends
of the row. There are five persons sitting between T and S.
T sits at one of the extreme ends of the row. R sits exactly in
the middle of T and S. Two persons sit between S and P. Q
does not sit at one of the extreme ends of the row. There are
as many persons sitting between Q and V as many are
sitting between S and Q. P is exactly mid of the row.

What is the position of R with respect to Q?
Q % GE W R T AT T 82

1) 8th to the left / 9T T 3TTSAT
2) 9th to the lett / EITQ"ﬁ:ﬁTslTV .
3) 9th to the right / WA AT
4) 8th to the right / 31T ¥ 3T&AT
5) 10 to the left / =TT & IET



Certain people are sitting in a row facing north. Q is third
to the left of O who sits fourth from one of the extreme ends
of the row. There are five persons sitting between T and S.
T sits at one of the extreme ends of the row. R sits exactly in
the middle of T and S. Two persons sit between S and P. Q
does not sit at one of the extreme ends of the row. There are
as many persons sitting between Q and V as many are
sitting between S and Q. P is exactly mid of the row.

What is the position of S from right end?

TR BR YU S T TATT T 22

1) 13th / J%&ST
2) 15th / Ug@EaT
3) 14th / .

4) 12th / SIREAT
5) 16th / ArAGAT



Certain people are sitting in a row facing north. Q is third
to the left of O who sits fourth from one of the extreme ends
of the row. There are five persons sitting between T and S.
T sits at one of the extreme ends of the row. R sits exactly in
the middle of T and S. Two persons sit between S and P. Q
does not sit at one of the extreme ends of the row. There are
as many persons sitting between Q and V as many are
sitting between S and Q. P is exactly mid of the row.

What is the position of P with respect to Q?
Q o T W P T TATH T &2

1) Third to the left / STT T FET
2) Third to the right / &8 & &
3) Second to the right / ZT%@'E'{T{T
4) Second to the left / ST =L
S) Fourth to the left / EITQ'ﬁECﬁQIT



Certain people are sitting in a row facing north. Q is third
to the left of O who sits fourth from one of the extreme ends
of the row. There are five persons sitting between T and S.
T sits at one of the extreme ends of the row. R sits exactly in
the middle of T and S. Two persons sit between S and P. Q
does not sit at one of the extreme ends of the row. There are
as many persons sitting between Q and V as many are
sitting between S and Q. P is exactly mid of the row.

What is the position of O with respect to S?
S & HaW | O T TU T 82

1) 9th to the left / STT A AT
2) 10th to the left / 9TE & FHAT
3) 9th to the right / E'I'Q"ﬁ‘:ﬁT:ITV .
4) 8th to the left / STTSAT & AT
5) 8th to the right / 2T ¥ T3AT



Eight friends M, N, O, P, Q, R, S and T are sitting
around a circular table. All of them are facing
towards the center but not necessarily in the same
order. P sits second to the right of R and second to
the left of T. Two people sit between T and N. The
number of people sits between Q and M is the same
as the number of people sits between M and S.M does
not sit near T. O sits second to the left of S.

AT M, N, O, P, Q, R, S 3R T Ueh MATHRKR HH h
aﬁﬁ%%mﬁﬁa%aﬁaﬁ?w%ﬁﬁﬂ
SHRT QU sh 2147 STTavdeh Tat 2l

P, R & ST | TEY T R T & F1U T T TAH W
FSTRI T ok N 3% 72 & 21 suhe 98 5 IR M®
T U o THAT Al TH&IT M 3R S oF 72T ¥ d¢ oAt <hr
TEAT o TR gl M, T o OHIT T8 98121 O, S o a1
@raﬁwu'{é‘o"r%l



Eight friends M, N, O, P, Q, R, S and T are sitting
around a circular table. All of them are facing
towards the center but not necessarily in the same
order. P sits second to the right of R and second to
the left of T. Two people sit between T and N. The
number of people sits between Q and M is the same
as the number of people sits between M and S.M does
not sit near T. O sits second to the left of S.

Four among the following five are the same in a
certain way and thus form a group, then which of the
following does not belong to that group?

M-S
2)Q-R
3)N-P
4T-R
5P-0



Eight friends M, N, O, P, Q, R, S and T are sitting
around a circular table. All of them are facing
towards the center but not necessarily in the same
order. P sits second to the right of R and second to
the left of T. Two people sit between T and N. The
number of people sits between Q and M is the same
as the number of people sits between M and S.M does
not sit near T. O sits second to the left of S.

How many friends sit between M and N, when
counted clockwise direction from N?

1) None / g A&l

2) One /

3) Two /

4) Three / GIE)

S5) More than three / ik RCIDED




Eight friends M, N, O, P, Q, R, S and T are sitting
around a circular table. All of them are facing
towards the center but not necessarily in the same
order. P sits second to the right of R and second to
the left of T. Two people sit between T and N. The
number of people sits between Q and M is the same
as the number of people sits between M and S.M does
not sit near T. O sits second to the left of S.

If all the people are made to sit in alphabetical order
in a clockwise direction starting from M, then the
position of how many people (excluding M) will
remain unchanged?

1) None / ﬁé’qﬁ

2) One /

3) Two /

4) Three / @

S) More than three / o | 3TfereR23



Eight friends M, N, O, P, Q, R, S and T are sitting
around a circular table. All of them are facing
towards the center but not necessarily in the same
order. P sits second to the right of R and second to
the left of T. Two people sit between T and N. The
number of people sits between Q and M is the same
as the number of people sits between M and S.M does
not sit near T. O sits second to the left of S.

Who among the following sits immediately to the

right of T?
e o O i-ET s tte T & 3 S T W SeT 27

1)S
2) Q
3)0
4) N : :
S) None of these / gﬁ'ﬁ‘ﬁ&ﬁ?:@f



There is family of seven member having three
generations. There are atleast four females in the
family. A is the father of B. L is married to the only
son of G. L has an unmarried sibling K. B is the
nephew of K. C is the child of A.G is the father of A.

H is the parent of L.

A1 difea arer v uftam & @ vee ¥ afEr ® o=
U s AfeATt 2l A, BT UaT I LT fRae G &
THATT T A FT Bl L 1 U Afraniad 98X K B B,
K &A% gl C, A T Ga 81 G, A T fuar gl H, L 6
HTaT-foraT 2



There is family of seven member having three
generations. There are atleast four females in the
family. A is the father of B. L is married to the only
son of G. L has an unmarried sibling K. B is the
nephew of K. C is the child of A.G is the father of A.
H is the parent of L.

How H is related to L.?

1) mother

2) father

3) either 1) or 2)

4) Cannot be determined
5) None of the above



There is family of seven member having three
generations. There are atleast four females in the
family. A is the father of B. L is married to the only
son of G. L has an unmarried sibling K. B is the
nephew of K. C is the child of A.G is the father of A.
H is the parent of L.

How is C related to G?

1) Grandmother

2) Daughter

3) Granddaughter

4) Sister

S) Cannot be determined



There is family of seven member having three
generations. There are atleast four females in the
family. A is the father of B. L is married to the only
son of G. L has an unmarried sibling K. B is the
nephew of K. C is the child of A.G is the father of A.
H is the parent of L.

How is K related to A?

1) Sister - in- law

2) Brother - in- law

3) Son

4) Daughter

5) Cannot be determined



How many pairs of letters are there in the word
“NEIGHBOUR?” each of which has as many letters
between them as in the English alphabetical series in
both forward and backward directions?

“NEIGHBOUR?” 3168 | 3T 3R Ui ST o o U
fora a1ert & Tw B frreh offter 3a 2 arer B, Ry
SIS FOTHTAT | 37k S=r 82

1) Four / &R
2) Three / €9
3) Two / al

4) One / Tch

S) None of these



Ten people- A, B, C,D, E, P, Q, R, S and T are sitting in two
rows with five persons in each row, not necessarily in the same
order. P, Q, R, S and T are sitting row 1 facing south and A, B,
C, D and E are sitting in row 2 facing north. Each person in row
one faces a person from the second row. Two people are sitting
between E and B, who is sitting to the right of E. The person
who is facing E is the immediate neighbour of R. S sits third to
the left of R. Two people are sitting between P and T, who is
facing E. Only one person is sitting between D and C, who is not
sitting at any extreme end of the row. A is the immediate

neighbour of both E and C.
AR -A,B,C,D,E, P, Q,R, saﬁTquﬁsﬁuﬁr
STfRRa % T TR § 90 &, WT@% H gl P,
Q, R, saﬁTTqﬁslﬁaF&méswé%%aﬁT zfrA,B, C,
ﬁTEW%W%%QﬁB T Uik S, E'Fl'ﬁtlﬁl-?%ﬁ
—q%%qu@%llzaﬁwéamzr fh IS 21 B, E mﬁ&ﬁ?
ST 21 T2 ATk AT E & OFE g, a?s'Rsmﬁmw %l
& T A A T U AST 81 P ﬁTT%w&wa‘r—Qﬁsa%%l
&% T 21 D 3R C o 72T Hhaol Ush Ik 3T 21 C Utk &
ot sifaq SR WAL FBT RN A, Eaﬁ'{caﬁraﬂﬁw

ﬂm
o—@



Ten people- A, B, C,D, E, P, Q, R, S and T are sitting in two
rows with five persons in each row, not necessarily in the same
order. P, Q, R, S and T are sitting row 1 facing south and A, B,
C, D and E are sitting in row 2 facing north. Each person in row
one faces a person from the second row. Two people are sitting
between E and B, who is sitting to the right of E. The person
who is facing E is the immediate neighbour of R. S sits third to
the left of R. Two people are sitting between P and T, who is
facing E. Only one person is sitting between D and C, who is not
sitting at any extreme end of the row. A is the immediate

neighbour of both E and C.

Who is facing C?
C émrg@ag-—r%?
1T

AN

3)Q

4) R

5) P



Ten people- A, B, C,D, E, P, Q, R, S and T are sitting in two
rows with five persons in each row, not necessarily in the same
order. P, Q, R, S and T are sitting row 1 facing south and A, B,
C, D and E are sitting in row 2 facing north. Each person in row
one faces a person from the second row. Two people are sitting
between E and B, who is sitting to the right of E. The person
who is facing E is the immediate neighbour of R. S sits third to
the left of R. Two people are sitting between P and T, who is
facing E. Only one person is sitting between D and C, who is not
sitting at any extreme end of the row. A is the immediate
neighbour of both E and C.

Who is sitting to the immediate left of the person who is facing

B?
B AT 3T GG STh oh S1eh AT i 8T 82

DT
2)S
3)R
4) Q
5) P



Ten people- A, B, C,D, E, P, Q, R, S and T are sitting in two
rows with five persons in each row, not necessarily in the same
order. P, Q, R, S and T are sitting row 1 facing south and A, B,
C, D and E are sitting in row 2 facing north. Each person in row
one faces a person from the second row. Two people are sitting
between E and B, who is sitting to the right of E. The person
who is facing E is the immediate neighbour of R. S sits third to
the left of R. Two people are sitting between P and T, who is
facing E. Only one person is sitting between D and C, who is not
sitting at any extreme end of the row. A is the immediate
neighbour of both E and C.

Which pair is sitting at the extreme ends of the row facing
north?

I AT I UTeh o ST DR U 3T T 3T THE I8T 82

DAandC / AARC
2)AandE / A IRE
3)Dand B / D AR B
4)Eand C / E3ARC
5)Eand D / E 3R D




Ten people- A, B, C,D, E, P, Q, R, S and T are sitting in two
rows with five persons in each row, not necessarily in the same
order. P, Q, R, S and T are sitting row 1 facing south and A, B,
C, D and E are sitting in row 2 facing north. Each person in row
one faces a person from the second row. Two people are sitting
between E and B, who is sitting to the right of E. The person
who is facing E is the immediate neighbour of R. S sits third to
the left of R. Two people are sitting between P and T, who is
facing E. Only one person is sitting between D and C, who is not
sitting at any extreme end of the row. A is the immediate
neighbour of both E and C.

How many people are sitting between R and S ?
R 3 S % Wea Rherd S 32

1) One / Tesh
2) Three / &=

3) Four / @R
4)Two / &
S) None / ﬁ‘s‘q%"r



Ten people- A, B, C,D, E, P, Q, R, S and T are sitting in two
rows with five persons in each row, not necessarily in the same
order. P, Q, R, S and T are sitting row 1 facing south and A, B,
C, D and E are sitting in row 2 facing north. Each person in row
one faces a person from the second row. Two people are sitting
between E and B, who is sitting to the right of E. The person
who is facing E is the immediate neighbour of R. S sits third to
the left of R. Two people are sitting between P and T, who is
facing E. Only one person is sitting between D and C, who is not
sitting at any extreme end of the row. A is the immediate
neighbour of both E and C.

Which pair of people are sitting exactly in the middle of the
rows?

UTtRal & Stk Wed W SATRRAN ST Shid O T 3T 82

)Rand A / RIARA
2)Cand Q / C IARQ
3)Band P / B3RP
4)DandS / DIARS
5 TandE / T3RE
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